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nswer Type Ques ions. xar‘nme'es ave to = Y
attempt all questions. Each question is of 1 mark
) .. Section-A Tx1=7
and maximum word limit may be 30 words.
Section ‘B’ contains 8 Short Answer Type (Very Short Answer Type Questions)
Questions. Examinees will have to answer any four Qug—3T
questions. Each question is of 5 marks. Examinees fa &g 3w 999)

have to delimit each answer in maximum 200 1. (i) Represent number 2+2 \/gl. in polar form.

words. Section ‘C’ contains 4 Long Answer Type
Questions. Examinees will have to answer any two wfms den 242431 W g w9 H o

questions. Each question is of 10 marks. Tl |
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> (vi) Define contour.
.. . n
(i) Prove that two power series 242" and

n=1 FH HI AR FHIFT |

- n—1 ] .. , .. .
2 2" has same radius of convergence. (vii) State Cauchy’s General Principle of Uniform
n=1

Convergence for Sequence.

fog =ifow f& < =@ Sof ianzn e A & THEHH SARERT & foru it w1 qH

- = g &1 FeA FHISA |

)y na,z"” 2 A sfrr B Section-B 4x5=20
- gug—d

(ii1) Define Isogonal mapping.
(Short Answer Type Questions)

JEIRIvT S0 Shl qRYIA it | (g T q9)
(iv) Define analytic function. 2. Prove that a stereographic projection projects
freafE Tor 3 TReE SR circles into circles or straight line.

fag =ifve & & fam géw, g &1 g0 § =1 w=Wa
TEnslt § gaT w3 ¥

(v) Find value of 2z for which mapping

1
W_(ZJFZJ is not conformal mapping. 3. Prove that every closed and bounded set is
z 1 98 HA A kit fowed faw gfafesmo compact.
1 ) s N . o~ - .
W:(Z+;j S R TE fog =ifvt fof g F9a @ IRes T=a9 Hed Bl
g
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4. Prove that f(z) = 22 is uniformly continuous in 7. Prove that derivative of analytic function is itself

1 an analytic function.
domain |z| <1 while f(z) = — is not uniformly fag =ifvu f5 fordt favafte wom =1 sEdhed @A
T favafte wer da 2
8. Show that every function which have only poles
forg Hife 6 91 [2] <19 f(2) = 2 ThEmM Had as singularities in extended complex plane, is

continuous.

rational function.

1 .
& SR f(2) = . THTAM Fad el 2
Tefta wifey & y9w wod, st fawaia afms

1 1 ‘ f 3 .
5. Find corresponding area of infinite strip Z<J’<5 T 7 faferan ST E E, R e T
9. If a > ¢, then prove by Roche’s theorem that
under the transformation W= equation ¢ = az"* has n roots in circle |z| = 1.
1 1 1 A g > ¢, T8 T THA g g wiSA for wHrem
IO W=— & Fd W< Ugl <Y< &
z 4 2 F=a"®TA |z| =1 F iR ngA T
w-IHae H gHad & J i | Section-C 2x10=20
6. Show th formation # == transfer circl -
. Show that transformation 4 ransfer circle (Long Answer Type Questions)
x2 + 22 — 4x = 0 to straight lines. (@ Swa ue)
10.(a) Show that function £ (z) = ¢Z*(z # 0) and
_2z+3
gefdfa  wifsd  fe  wawwRor w= 4 EN f(0) = 0 is not regular at z = 0 although

Pt 2 ar=0 @ we v # urh % Cauchy'-Riemann equations are satisfied at
that point.
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wefdfa HifsT ffF wer f(2) = e 'z # 0) @ 13.(a) Evaluate :

£(0) = 0, z = 0 W Tt 7 ¥, Fafy @ fag 1“4‘1"9 (@>0)
2, 20’
W PRA-OAH TR T B § O a”+sin” 6
(b) Prove that function u = € (xcos y—y siny) A s :
satisfies Laplace equation and find jn—z ad® 7 (a>0)
0 4% +sin” ©

corresponding analytic function f(z) = u + .
(b) Show that there cannot be more than one

g =iva & wem u = ¢ (xcosy—ysiny) . o . ,
analytic continuation of an analytic function

AT FHIRIOT Sl T2 AT § a1 THh G
fagcifter weM f(z) = u + v I SHICI

in a domain.

Tefyia wifve fF ww & wa § fovaiftes wem
% Uh 4 Al favcifter Hiqes el 8 g% ol

11. Prove that a power series represents an analytic

function inside its circle of convergence.

fog =it f& & @ 9ot oI IR ga &
T TH favaifew wem frefag &t §1

12. State and prove Laurant’s theorem for power series
expansions of analytic function.
fowaiftr el &1 = 9ot &% €9 H YER & foaw @Rt
YT 1w w a5 Hid |
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